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a) 6x—(3x2—(—2x2+(4x2—6)—3)—5x)
T 6% —(3x*—(2%*—9) - 5X)
= X —(3x* - 2249 —4x)
= X —A+5x -9

= —x"+11x -9

b) (2pq —3p*)(p +29) — (4> —2pq)(2p — q)
T 2P+ 4p3-3p3 -4
~(2p3*—9% _4p*§ +2p4*)

—4p*G +4P Y 3P 4P g apy

[

= —3p? gt

2] A=x2-3,B=1-2x%and C =x3—x+ 1 DESE, ]

DA ET L.
a) C—(B+34)
= C-B-3A

= (KP=oA+1) ~(1 =222 —3(2*>—3)

= X3+~ +2x* —31*+9

A Y

b) A—(B—(C — A4))

= A—~(B-ctA)
= A-BtC-A
= -3

= (C-x+1)~(1-22>)

= X342~ x
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RDEL DR ESTEE L.
L a) —a2x(=b3= a’h’

b) ax@)?x @)= p'?

0 @at= (65"

d) -2 = 197

e) ab¥@?-5b%) = 4> — sah’ |

f) (=3a2%b)3 x (—2ab3)? —" /08 a‘Pé‘i

RDSRUNZRMAL. BEEL.
a) Gx+4)?2= G+ 242 +4y*

b Gx-H(Tx-D= 2(x" 3] 2+ 4
O Gx+Ne+5)= 524 26xy +5Y4°

d) (P +5x-2(x+2) = X °+5x 2% +20 40X —¢
= X+ PX
€) (¢ —3xy—yH)@x-3y) = 22> ~4 %Y -2x4%

=327 +9xy4*+ 34>
= 2% —9°) 1Ayt +393

(B %<)





